

Central Mindanao University BIDS AND AWARDS COMMITTEE

Musuan, Bukidnon

NOTICE OF AWARD

June 22, 2020

MS. EULALIA T. LUMBAYON
Authorized Representative
VALENCIA GOODWILL COMMERCIAL,INC.
Sayre Highway, Poblacion, Valencia City

Dear Sir:

This is to inform you that your bid proposal for the PROCUREMENT OF ELECTRICAL SUPPLIES which shall be funded under GF after having been post-qualified and declared to have obtained the Lowest Calculated Responsive Bid, has been recommended for award by the Bids and Awards Committee (BAC) of Central Mindanao University by virtue of BAC Resolution No. GF-PB-20-010, and the same has been approved by the Central Mindanao University thru the undersigned at the amount of One Million Nineteen Thousand Six Hundred Thirty Nine Pesos and 95/100 (Php1,019,639.95). You are hereby requested to manifest your acceptance of this Notice of Award.

Relative thereto, and in accordance with the provisions of the documents and Revised R.A. No. 9184, otherwise known as the Government Procurement Reform Act and its Implementing Rules and Regulations, you are hereby instructed to submit the following documents with ten (10) calendar days from the date of your receipt of this Notice of Award to within:

A. PERFORMANCE SECURITY

This is to be posted in favor of the Central Mindanao University, in the form of cash, manager's check, cashier's check, bank draft/guarantee confirmed by local bank, irrevocable letter of credit issued by a reputable bank, surety bond callable upon demand, issued by the Government Service Insurance System or any reputable surety or insurance company duly accredited by the Office the Insurance Commissioners, or a combination thereof IN ACCORDANCE with the following schedule:

AMOUNT OF PERFORMANCE SECURITY (EQUAL TO PERCENTAGE OF THE TOTAL CONTRACT PRICE)
Five percent (5%)
Thirty percent (30%)
Proportionate to share of form with respect to total amount of security

Republic of the Philippines CENTRAL MINDANAO UNIVERSITY

University Town, 8710 Musuan, Bukidnon

E-mail Add. bac@cmu.edu.ph; Website: http://www.cmu.edu.ph

OFFICE OF THE BIDS AND AWARDS COMMITTEE

CONTRACT OF AGREEMENT

REF. NO. GF-PB-20-010

THIS AGREEMENT made this 07 day of June, 2020 between CENTRAL MINDANAO UNIVERSITY of the Philippines (thereinafter called "the Entity") of the one part and VALENCIA GOODWILL COMMERCIAL, INC. at Sayre Highway, Poblacion, Valencia City (hereinafter called "the Supplier") of the other part:

Whereas, the Entity invited Bids for certain goods and ancillary services, viz., PROCUREMENT OF ELECTRICAL SUPPLIES and has accepted a Bid by the Supplier for the supply of those goods and services in the sum of One Million Nineteen Thousand Six Hundred Thirty Nine Pesos and 95/100 (Php1,019,639.95) with the items listed below:

ITEM	UNIT	QTY	DESCRIPTION	OFFER	UNIT	TOTAL AMOUNT
1	2100	meter	38 mm2 THW. Cubic Wire Stranded		242.20	508,620.00
2	140	meter	150 mm2 THW. Cubic Wire Stranded		794.30	111,202.00
3	1	set	400 A. 3 Phase, 220 Volts, Double Throw Safety Switch with Fuse Cartridge, Heavy Duty		59,245.00	59,245.00
4	4	piece	4 x16 x16 inches Metal Pull Box, Heavy Duty	anuexe.	6,759.00	27,036.00
5	100	piece	4 x 6 x16 inches Metal Pull Box , Heavy Duty		815.00	81,500.00
6	119	piece	C-Purlins , 2x6" sch.1.2		629.65	74,928.35
7	240	piece	#2"Ø PVC Pipe	Orange for electrical	258.00	61,920.00
8	10	box	5.5 mm2 TW. Cubic Wire Standard	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	4,920.00	49,200.00
9	120	piece	3/4 "Ø PVC Pipe	Orange for electrical	80.50	9,660.00
10	241	piece	3/4 "Ø Long Shape PVC Elbow		21.00	5,061.00
11	230	piece	3/4 "Ø Long Shape PVC Adoptor/Connector with Locknuts	The state of the s	19.00	4,370.00
12	20	piece	1/4 1x1" Angle Bar		524.00	10,480.00
13	24	piece	Metal Cutting Disc, Standard Size		42.40	1,017.60
14	5	kilo	Welding Rod		141.00	705.00
15	60	piece	Electrical Tape (Big Size)		39.25	2,355.00
16	160	piece	2"Ø PVC Adoptor/Connector w/ lock nuts		62.55	10,008.00
17	4	piece	10 mm Concrete Drill Bit		290.00	1,160.00
18	4	piece	10 mm Metal Drill Bit		150.00	600.00
19	2	quarts	PVC Solvent		286.00	572.00
				GRAND TOTAL	1,019	,639.95

NOW THIS AGREEMENT WITNESSETH AS FOLLOWS:

- In this Agreement words and expressions shall have the same meanings as are respectively assigned to them in the Conditions of Contract referred to.
- The following documents shall be deemed to form and be read and construed as part of this agreement, viz,:
 - (a) the Bid Form and the Price Schedule submitted by the Bidder;
 - (b) the Schedule of Requirements;
 - (c) the Technical Specifications;
 - (d) the General Conditions of Contract:
 - (e) the Special Conditions of Contract; and,
 - (f) the Entity's Notification of Award.
- 3. In consideration of the payments to be made by the Entity to the Supplier as hereinafter mentioned, the Supplier hereby covenants with the Entity to provide the goods and services and to remedy defects therein in conformity in all respects with the provisions of the Contract.
- 4. The Entity hereby covenants to pay the Supplier in consideration of the provision of the goods and services and the remedying of defects therein, the Contract Price or such other sum as may become payable under the provisions of the contract at the time and in the manner prescribed by the contract.

IN WITNESS whereof the parties hereto have caused this Agreement to be executed in accordance with the laws of the Republic of the Philippines on the day and year first above written.

The Common Seal of CMU, Musuan, Bukidnon was herein affixed in the presence of DR. JESUS ANTONIO G. DERIJE

Signed, sealed, and delivered by <u>VALENCIA GOODWILL COMMERCIAL, INC.</u> in the presence of EULALIA T. LUMBAYAO.

Binding Signature of Fortity

Witne

SUE NEONIO C DENG

President

RICO A. MARIN

BAC Chairman

Binding Signature of Supplier:

Authorized Representative

MARIA JAMELLAH CELESTE M. MAGALONA Chief, Accounting Unit

ACKNOWLEDGEMENT

REPUBLIC OF THE PHILIPPINES)
PROVINCE OF BUKIDNON
MUNICIPALITY OF MARAMAG

BEFORE ME, a Notary Public for in the above jurisdiction, on this

n 7 AUG, 2020

THE PLIATE AIPV

MAGNE COMPLIANCE NO. VI-0300383

personally appeared the following, exhibiting to me following described Competent Evidence of Identity (CEI) in accordance with the 20m Rules on Notarial Practice.

Name	Competent Evidence of Identity	Date/place Issued
JESUS ANTONIO G. DERIJE		
EULALIA T. LUMBAYAO		

Known to me to be the same person who executed the foregoing instrument and who acknowledge to me that the same is their free and voluntary act and deed.

This instrument refers to the Contract of Agreement consisting of (3) pages including this page, stand by the parties and their symmetric and every hereof and thereof, including this page whereon the acknowledgement is written.

ATTY. FRANCISCO L. VASIG, JR.

IN TESTIMONY WHEREOF, I have hereunto set my hand and affixed on every page hereof my notarial seal this 7 AUG TO THE PROPERTY OF THE Municipality of 1 Province of UNTIL DECEMBER 31, 2021

PAGE NO. 21 P PTR NO. 3773714 / 12-2029
18P NO. 097067 / 12-10-2019
ROLL NO. 23109 / TIN: 106-036-834